Převody jednotek času
Sekundy     minuty    hodina      den    
             60               60
                  3 600      
a)120min=     2     h     120:60= 2
300min=     5       h      300:60= 5    
240min =   4        h     240:60= 4
420min =  7     h             420: 60= 7
540min =    9    h             540:60= 9
600min=   10     h           600:60=  10 
b) 3h=  180      min             3.60 = 180
2h 40min = 120+40=160       min                  2. 60= 120
5h 15min=  300+15=315 min         5.60= 300
4h7min =   240+7=247    min       4.60= 240
180s=      3    min                                180:60= 3
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